MIAMI-DADE MIAMI-DADE COUNTY, FLORIDA
COUNTY METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563

(305) 375-2901  FAX (305) 372-6339
NOTICE OF ACCEPTANCE (NOA) www.maimidade.gov/buildingcode

Weather Shield Manufacturing, Inc.
One Weather Shield Plaza
Medford, WI 54451

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control Division
and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas
where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Division that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Series “Legacy” Aluminum Clad Outswing Wood French Door — L.M.1.

APPROVAL DOCUMENT: Drawing No. 1211 rev B, titled “Legacy Alum Clad Outswing French Door”,
sheets 1 through 8 of 8, prepared by W.W. Schaefer Engineering & Consulting, P.A., dated 05/28/04 and last
revised on Jul 09, 2008, signed and sealed by Warren W. Schaefer, P.E., bearing the Miami-Dade County
Product Control Renewal stamp with the Notice of Acceptance number and expiration date by the Miami-
Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

Limitations:

1. Hinges max OC spacing must not exceed 26” for 98" or less frame height & 34” for 120” frame height.
2. Steel tube mullion required for triple or quad door units with transoms.

LLABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises & renews NOA # 04-0630.03 and consists of this page 1 and evidence pages E-1, as well
as approval document mentioned above.

The submitted documentation was reviewed by Ishaq I. Chanda, P.E.

NOA No. 08-0602.10

‘MIAMI-DADE COUNTY' Expiration Date: July 17, 2013

Approval Date: August 14, 2008

\' 45\6 Page 1
A\



Weather Shield Manufacturing, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A, DRAWINGS (transferred from file # 04-0630.03)
1. Manufacturer's die drawings and sections.
2. Drawing No. 1211 rev B, titled “Legacy Alum Clad Outswing French Door”, sheets 1
through 8 of 8, prepared by W.W. Schaefer Engineering & Consulting, P.A., dated
05/28/04 and last revised on Jul 09, 2008, signed and sealed by Warren W. Schaefer, P.E.

B. TESTS (transferred from file # 04-0630.03)
1. Test reports on: 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
along with marked-up drawings and installation diagram of an outswing French door,
prepared along with marked-up drawings and installation diagram of a wood French door,
prepared by Twin City Testing Corporation, Test Report No. TCTCW102016 dated 10/21/02,
TCTCWI02013 dated 8/20/02 and TCTCWI02021 dated 11/10-13/03, all signed and sealed
by Derrick Swanson, P.E.

C. CALCULATIONS
1. Anchor verification calculations and structural analysis, dated 5/29/08 and last revised on
July 09, 2008, prepared by W.W. Schaefer Engineering & Consulting, P.A., signed and
sealed by Warren W. Schaefer, P.E. .
2. Glazing Complies with ASTM E1300-02

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 06-0216.06 issued to Solutia Inc. for their “Saflex I1IG Clear or
colored Interlayer” dated 05/04/06, expiring on 05/21/11.

F. STATEMENTS
1. Statement letter of conformance and no financial interest, dated 05/29/08, signed and

sealed by Warren Schaefer, P.E.
2. Statement of compliance by lab, as part of above test reports.

G. OTHER
1. This NOA revises & renews NOA # 04-0630.03, which expired on July 17, 2008.

2. Previous associated NOA # 03-0421.11

\ Slag \ . LL(,& ele

Ishaq L. Chanda, P.E.

Product Control Examiner
NOA No. 08-0602.10

Expiration Date: July 17, 2013
Approval Date: August 14, 2008



DRAWN BY: CHECKVEJDS ar:
”n K.P.S, W.W.S.
TYPICAL FRAME SCREWS. PLACE ONE AT EACH 42 3\ICISDTHM/2)F<‘W) .
83 1/4” MAX. FRAME WIDTH (F.W.) / HEAD JAMB CORNER, 3 AT HEAD MIDSPAN & % FRAME e 6" MAX =] 1z
6" MAX 2 THRU STRIKE PLATE WITH DOORS 74" X A F—'“ e) o3 13
- o4 4 3 B » LLER. 5 AT HEAD MIDSPAN & 2 STRIKE 5 — . ., H NEE
(TYP.) A 38 & SMALER PLATE S 11 GA. X 1 1/2 2| |5
: 5 TR THRU STRIKE PLATE WITH DOORS LARGER — 7 —.— —F #F —"V—ROOHNG i 2e vo SmE
~ = —— — H = — =\ THAN 747 X 98" (50 SQ. FT.) SEE "FRAME e v 1 I E
= % N [ ) ANCHOR REQUIREMENTS TABLE” ON THIS | \ 7 X158 DRva 2
/] « SHEET FOR OTHER FASTENER REQUIREMENTS. | : _/ \,"ZE 3?35??’5 DSPTgCESDECURE el [2
. : ElZ)2]z
@/ SEE ”CORNER—) " ||| \SEE "CORNER - & SEAL NAILING FIN 3 MEI
% stRike \ CONSTRUCTION" 11 GA X | 1/2 ROOFING [l | consrrucrion AHEE
/ \ DRYWALL SCREWS SPéAUCEED . 4 ‘HI S HHE
R > I 9 IS
OBOHD % S 1 N A 01055 wen 1ol3/1E
NGE / A ACTIVE 2 0| G390 SCREW OR MIN. 3/16" [ {Zle(b
PANEL \ SS. WOOD SCREW OR MAX ]}\\ HINGE CONCRETE SCREW (2 z]<| |5
' A NO. 10 S.S. \ PER HINGE INTO
NACTVE HARDWARE MIN. 3/16" CONCRETE SCREW (2 "AE SUPPORTING "
Vi PANEL N\ PER HINGE INTO SUPPORTING =5 f | ACTIVE N\ SUBSTRATE). SEE &
N / PARDIARE STRIKE AN ANCHOR REQUIREMENTS” TABLE CC smie ||| AeORE AN REQUIREMENTS” TABLE ey
z % INACTIVE ACTIVE FASTENER REQUIREMENTS. o g /\4_ : OTHER FASTENER @ 0 20
Q r £ ﬂlm a1
= : | REQUIREMENTS. o
: < 0 < \%)\%2/ FRAME SCREWS 6" MAX. FROM e 2 WY NEAL/ Sl 8528
” ~ 3 Sl
S e N/ (12)  opeosi CORNERS & 12" MAX. 0.C. (ONLY E 0 A ® OPPO 51 = v@_g
g (43 e REQUIRED WITH DOORS TALLER THAN T 1 &) " AR
A INACTIVE HANDLE 98” AND/OR WIDER THAN 747) X o =D {ANDLE / FRAME SCREWS 6" MAX. i) - Eoul)
2 HANDLE = e T T FROM CORNERS & 12 ol £852
= N\ I i / TYPICAL FRAME SCREWS INTO SUBSTRATE. = :@ ./ MAX. 0.C. (ONLY A KEE
° » c PLACE ONE AT EACH SILL CCRNER, 3 AT & 30 1/16"/ | REQUIRED AT HINGE SIDE || £ | o .,
N N30 /16" | / ; SILL MIDSPAN & 3 THROUGH STRIKE PLATE .L* l MAX. D.L.0. WITH DOORS TALLER %4 Ig‘f Z
MAX. D.L.O. 74" X 98" & SMALLER. 5 AT 1 " THAN 98” AND/OR WIDER || 3 |5 E
. WITH DOORS 36 ) Sl o
N\ s/ v SILL MIDSPAN & 3 THRU STRICE PLATE Ll Y, THAN 37 3/4") o Re
. WITH DOORS LARGER THAN 74" X 98 :
AN / SQ. FT.) SEE "FRAME ANCHOR 3 J_ : TYPICAL FRAME SCREWS INTO g S
@ REQUIREMENTS TABLE” ON THIS SHEET FOR S\ / / 7" SUBSTRATE POSITONED AS || o -
\/ STRIKE % OTHER FASTENER REQUIREMENTS PLATE | ' SHOWN. SEE "FRAME ANCHOR 31 2 . ¢
( PLATE (APPLICABLE WITH BUMPER THRESHOLD. NIl REQUIREMENTS TABLE” ON 2| & %l
THRESHOLD CONDITION, SEE "ADA . :l =  THIS SHEET FOR OTHER > | 4 oEh
FOR ADA K / ER{(NB@EIR@H@W—&) 3 Z s
\ / SILL DETAIL" ON SHEET 7). /1_ | PASTEN as complying with the Fioridn|| g& ax
N . Buiding Code > | 4G9 g2
Sp%%s;\ 4 ~NALING FIN IS OPTIONAL & MAY BE SCORED—" l | X | Acceptance No@f - 0602 JON @ | o Z S,
| A" AND REMOVED WHEN' REQUIRED FOR A DIRECT T . i " Expiration Dm—é_..@..._[ g & | ESLE
] Bl | I MOUNT CONDITION. (NAIL FIN SHALL NOT ACT  g» yax. 4 . l‘* 3" MY Vghoay | Cloned, | = | 92 el
3" MAX. o - q a4 13 4 AS A SUBSTITUTE FOR THE FRAME SHEAR (TYP) SErE (TYP.) Miami Dadt e Y &’§8 il
(TvP.) oA SCREWS SPECIFIED) PLATE o FOJE9C 2k
EXTERIOR ELEVATION: DOUBLE RECTANGULAR DOORS EXTERIOR ELEVATION: SINGLE RECTANC’;UIZAR DOUR o gg.sa 8%,
NERAL NOTES SCALE: 3/4" = 1’-0" SCALE: 3/4" = 1'-0 z £ 8
: (3
1.GEHESE DOOR SYSTE'MS HAVE BEEN TESTED, ANALYZED & APPROVED FOR DESIGN PRESSURES NOT TO EXCEED THOSE SHOWN IN .
EE SQLELN?SQSB,LEBL?CEE@ ERgtst:l}J(TNEGTéEsLTEéﬁ%Rs MUST BE PROPERLY DESIGNED & INSTALLED TO TRANSFER WIND LOADS TO THE FRAME ANCHOR REQL(J)E\;EI}\:GENTS J;ﬁﬁtﬁ Ty ALLOWABLE DESIGN LOAD )
o ad T -
.‘SSTRUA?LTLUT&RDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESEE}%RAW!SI\:_I(;SLL&B ESHQELYLOHSTWXASEYFWSLESSRSZESL:F!:%ALLY o(g%hggl%ggn J/;XETEI\?ER TYPE EMBEDMENT | EDGE DIST. SEFE SHEET 2 z ég
i . FIED ANCHOR EMBED TO BASE MATERIAL - m - o Ui
%ENTTISEEBESA’\I‘LSTHE ggé‘g:ggiTlorngngvPN HEREIN REPRESENT THE PRODUCTS TESTED & PROPOSED FOR WATER, AIR, IMPACT.202 2X_ WOOD FRAME OR BUCK NO. 10 SMS SCREW 1 1/4 3/4 REQUIREMENTS e g‘*_
C.YCLIC & UNIFORM STATIC AIR PRESSURE TESTING IN CONFORMANCE WITH THE FLORIDA BUILDING CODE PROTOCALS TAS-20t, o= CMIJ R HiIN. 5500 PS CONCRETEID 3/16" CONCR. SCREW 1 1/4.. 2" HINGE gm (,,%
gc. Z?aEggRDg?)RRG%Yg[?ESAIA%E mEAC;EESOSESérGNED IN ACCORDANCE WITH AND MEET THE REQUIREMENTS OF THE FLORIDA BUILDING — SCRE\.NS SHALL BE ELCO OR ITW RAMSET/RED HEAD TAPCONS, HILT DOOR HEIGHT # HINGES REQ'D E . ui
6 ACT) SHITTERS ARE NOT REQURED. Wi THESE DOGRS. (1)§€IPKC—RCON Il OR POWERS RAWL TAPPER (HARDENED STEEL OR S.S.). ALL SIZES 4 N EN
S HA%C%%TSTESRSCGE&GN%TooRREQFURAME TO PRESSURE TREAJE?HSUV(IZ(P)(SDOR WOOD FRAMING SHALL BE CAPABLE OF RESISTING (2) CMU IS NOT APPLICABLE AT THE HEAD & SILL (ONLY APPLICABLE AT SIDES) o = <
{ ] TREATING CHEMICALS 1 .
goR%%?gqNMlﬁQU?EE Egsm\/EE F’EESEg/TTEVE DESIGN LOADS TO USE WHEN REFERENCING THESE DOCUMENTS IN ACCORDANCE WIlTHG THE *SHEAR SCREW ANCHOR NOTE: FRAME MAY BE EITHER DIRECT MOUNTED TO THE OPENING, MOUNTE/PNCOHNOSED 10 S
GbVERNING CODE AND GOVERNING WIND VELOCITY. FOR WIND LOAD CALCULATIONS IN ACCORDANCE WiTH THE FLORIDA BUILDIN ACER. OR ANCHORED TO A MIN. 2x4 NO. 3 SOUTHERN PINE WOOD BUCK. WHEN ) NG - "
CODE, A DIRECTIONALITY FACTOR OF Kd = 0.85 MAY BE APPLIED WHEN USED IN CONJUNCTION WITH LOAD COMBINATIONS SPECIFIED CONTINUOUS SPAC . B USED. WHEN DIRECT MOUNTED OR MOUNTED WITH SPACER, 3/15 1211 B
IN SECTION 2.0 OF THE ASCE 7 STANDARD. DURATION FACTOR A 2x4 BUCK, NO. 10 SCREWS SHALL , . " FOR EMBED REQUIREMENTS. SHET NO.
9. NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE CERTIFICATION OF THIS PRODUCT. WIND LOAD CONCRETE SCREW SHALL BE USED. SEE "FRAME ANCHOR REQUIREMENTS TABLE™ FO ALUMINUM) 1 o 8
= NLY. .
?g K/IA%E.EGRIXJL@S |lrJ45cEL?JDTrgg gL(J)TO?\IOSTCTFh::TégATLgSISSTE%LLECREWS, THAT COME INTO CONTACT WITH OTHER DISSIMILAR MATERIALS SHALL  poooen MATFRIAL SHALL BE USED BETWEEN ALL DISIMILAR MATERIALS (BLOCK/CONCRETE &
ME.ET THE REdUIREMENTS OF FLORIDA BUILDING CODE CHAPTER 20.




» TORAWN BY:  |CHECKED BY:
83 1/4" MAX. FRAME WIDTH (F.W.) TYPICAL FRAME SCREWS. PLACE 42 3/8" MAX. | " A _kes NS,
e ONE AT EACH HEAD JAMB FRAME WIDTH (F.W.) 6 MAX 6 |"oo/20/03
6" MAX. @ A CORNER, 3 AT HEAD MIDSPAN BN AN (TYP.) N
TYP) | I‘ 5 5 & 2 THRU STRIKE PLATE WITH 5/ &/ i
(e.) B W 8 s o il ey | DOORS 74" X 98" & SMALLER. ' ' -
=TT\ < — g" 5 AT HEAD MDSPAN & 2 2 noxt iz I
// ) ~N wax THRU STRIKE PLATE WITH X ROOFING NALS R I
. /@7 §\ 7 RN ) e e = NO. 7 X 1 5/8"
/ % | e 28 H<58 SO' UTFreg Eﬁgs FTF/QA%“CE" 29 // " S DRYWALL SCREWS :
Y/ Hjs NCHOR REQUIREM STRIKE I 7/ SEE CORNER SPACED AS REQUIRED ||
PLATE I\ ON SHEET 1 FOR OTHER STRIKE SONSTRUCTION" z
. 4 EE "CORNER : | TO SECURE & SEAL {{@
S RN FASTENER REQUIREMENTS. NOTE ON i
| CONSTRUCTION" NOTE | N N e ST NAILING FIN z
. SR ON THIS SHEET. .\11 GA. X 1 1/2” ROOFING ! z
—I— HIN /I A\ NAILS OR NO. 7 X 1 5/8" I @@@@ -I— NO. 10 S.S. WOOD SCREW {*
4 ACTIVE DRYWALL SCREWS SPACED . I N OR MIN. 3/16" CONCRETE |f3
12" 0.C. i g
l. INACTIVE PANEL J AS REQUIRED TO SECURE & : 1 LOCK l SCREW (2 PER HINGE
— / PANEL LOCK SEAL NAILING FIN — . MAX HARDWARE \ INTO SUPPORTING
T g4 oA HARDWARE T 9 | TRATE). SEE "FRAME 0
L o / HARDWARE \ (TR | \ ?\HEEIOT? R%QUIREMENTS" %
Ly 3 ~ a
= INACTIVE | stake  |ACTIVE e | STRIKE TABLE ON SHEET 1 FOR Qg
S ¥ . PLATE ’ NO. 10 S.S. WOOD SCREW OR © < P ‘ | PLATE NG ’ OTHER FASTENER 3 <
. . - E * TS [a TS
= = - ANl V2 MIN. 3/16” CONCRETE SCREW (2 — % (e =aIt T CNTID REQUIREMEN o 20
s ¥ v \&/ v \EAL/ 7 PER HINGE INTO SUPPORTING s I OPPOSITE Z 059
g W : ® (42)  opposiE ' SUBSTRATE). SEE "FRAME g 9 | @) : ) aE ©
= INACTIVE AT ANCHOR REQUIREMENTS” TABLE . | ACTIVE | FRAME SCREWS 6" MAX. ol 2034
% = ‘ NANDLE | HANDLE l ON SHEET 1 FOR OTHER X O HANDLE / /FROM CORNERS & 12 @ 55;\#
= 1 Q) 10 screws 6@ 7 I|. L / - FASTENER REQUIREMENTS. = / ' MAX. 0.C. (ONLYNGE - A
: -NO. : REQUIRED AT Hi W epw
. & 12" MAX. O.C. : TYPICAL FRAME SCREWS INTO N MAX. D.LO. ] ﬂj: THAN 98” AND/OR WIDER s| .=
(ONLY REQUIRED WITH ./ SUBSTRATE. PLACE ONE AT EACH SILL e THAN 37 3/4") ol Y
DOORS TALLER THAN 36 CORNER, 3 AT SILL MIDSPAN & 3 / ' S5EZ 8
98" AND/OR WIDER / THROUGH STRIKE PLATE WITH DOORS & |/ | ok
THAN 747) '\ / 74” X 98" & SMALLER. 5 AT SILL S T ez
301/16" STRIKE MIDSPAN & 3 THRU STRIKE PLATE WITH o Y/ z [
P AN & 4 o e srers e | 2
SQ. FT.) SEE "FRAME ANCHOR o g
| REQUIREMENTS TABLE” ON SHEET 1 _ . SHOWN. SEE "FRAME ANCHOR || o | 2 &,
i FOR OTHER FASTENER REQUIREMENTS REQUIREMENTS TABLE” ON g o3k
STRIKE (APPLICABLE WITH BUMPER THRESHOLD. — | SHEET 1 FOR OTHER Z:_‘ gné
- PLATE i FOR ADA THRESHOLD CONDITION, SEE _ . FASTENER REQUIREMENTS. = | 2% 3e;
| L2 X "ADA SILL DETAIL” ON SHEET 7). ] r— A
; L \ Z 32
| BREIIER /6" MAX. I 4 4 3| B5Ces
3" MAX. q q NAILING FIN IS OPTIONAL & MAY (TYP) & 3 MAX. 2| b3 &%
(vp) 3 a7 gl BE SCORED AND REMOVED WHEN S — (TYP.) " £z 282
. e} N O .a i
__EXTEROR ELEVATION oD O 8 e MO U pxeroe bevmon
DOUBLE EYEBROW TOP QUTSWING DOOR ACT AS A.SUBST”UTE FOR THE SINGLE EYEBROW TOP OUTSW'NG DOOR % 2; %u(.g
SCALE: 3/4" = 1'=0" FRAME SHEAR SCREWS SPECIFIED) SCALE: 3/4" = 1'-0" E 5= z
ALLOWABLE DESIGN LOAD (PSF) ;RODUCTRENEwsn ui
complying with the Fioridy o
SINGLE DOORS WITH y m% B o
MAX. FH. = 98" & +60/-75 No_Of~6602.10 z i
FRAME CORNER CONTRUCTION ) . MAX. F.W. = 37 3/4" E”{‘Tﬂnm 12 2 o 23
AT EACH RECTANGULAR DOOR HEAD CORNER AND ALL SIDELITE CORNERS, THE WOOD FRAME MEMBERS ARE DADO CUT, GLUED, PLACED TOGETHER AND MECHANICAL - (] Sl
FASTENED WITH (3) #8 X 2 1/2" LONG DRYWALL SCREWS. SINGLE DOORS WITH F.H. m, —1 L. U"““l_» Ll e =
AT EACH DOOR SILL CORNER, THE WOOD FRAME MEMBERS ARE SQUARE CUT, SEALED WITH A GASKET & SILICONE ON THE INTERIOR AND SECURED WITH (3) 2 1/2" GREATER THAN 98" OR F.W.| +60/-60 Division Profiect Conty- ol
DRYWALL SCREWS. A 3/4" HIGH OAK THRESHOLD IS SEALED TO THE SILL WITH SILICONE BACK BEDDING AND SECURED WITH SCREWS TO THE WOOD SUB-SILL. GREATER THAN 37 3/4 Ol ey
AT EACH DOOR SILL CORNER WITH ADA SILL, THE WOOD FRAME MEMBERS ARE SQUARE CUT AND MECHANICALLY FASTENED WITH (2) #9 X 2" LONG FLATHEAD SCREWS. DOUBLE DOORS WITH I as\\
THE ALUMINUM FRAME CLADDING MEMBERS ARE MITER CUT AND MECHANICALLY FASTENED TOGETHER USING (1) 1 1/4" SCREW OR (1) #6 X 1" LONG SCREW WITH #5 MAX. FH. = 98" & +60/-75 =
HEAD AT EACH CORNER. MAX. FW. = 74" TR
SASH CORNER _CONSTRUCTION
AT EACH CORNER THE WOOD SASH MEMBER ENDS ARE SQUARE CUT, SEALED WITH A SINGLE BEAD OF SILICONE, WOOD GLUED TO THE WOOD JOINT SURFACES AND gggE%’gR DTCI)‘IOA'T\IS gvg'-’rHORF.}:_‘W +60/—6O SJIEZI—_‘]' 1NO B
SECURED WITH 3/4” DIA. X 3" LONG DOWELS, (2) PER TOP CORNER & (4) PER BOTTOM CORNER. » o '
; GREATER THAN 74 2 o §
HE ALUMINUM MEMBERS ARE SLIP FITTED TO THE ADJACENT PANEL MEMBER AT EACH CORNER.




DRAWN BY: CHECKED BY:
74" MAX. FRAME WIDTH (F.W.) 377 MAX. s | wus
' o FRAME WIDTH (F.W.) 6 uax T
el ——————.
f i L Ttn T T T I T T T T T 1 12.5" — @ ( TYP.) W
‘- —ﬂ MAX 0.C. -~ S
= ] FIXED TRANSOM WINDOW (SEE DRAWING NO. l += — s S 1 \
v < 1210, 1071 OR 1072 UNDER SEPARATE ( 5
O ! APPROVAL FOR DETALS.) ' NO. 10 SMS FRAME SCREWS
=& . (ONE AT EACH HEAD JAMB < ./
sa H S ) CORNER, 3 AT HEAD MIDSPAN ) 11 GA X 1 1/2" z
T 1 2" X 5" X 1/8 & 2 THRU STRIKE PLATE INTO //SEE "CORNER ROOFING NAILS OR NO g
= 6063-T5 ALUMINUM MULLION TUBE) - i ’ B
$2 | CONSTRUCTION 7 X 1 5/8" DRYWALL 7
ZZ . l TUBE MULLION (REF.) , NOTE ON SHEET 2. SCREWS SPACED AS -
¥ E 6" MAX. SEE MULLION END CLIP g
~ AL ON THIS SH ! REQUIRED TO SECURE s
<5 (P | DET IS SHEET I | & SEAL NAILNG FIN 2
Lo @ . N
L) R ;
| iy, Pl i = - Nl =
I /1 (] -
. 333 —~ ] 4
V L T, T O o
3 T I\ Q <«
4 7 ~ - © NAILING FIN IS OPTIONAL | oy
SEE "MULLION TYPICAL FRAME SCREWS (2 EACH T D 8 3
\ ) & % & MAY BE SCORED AN 5
- /4 STRKE END CLIP DETAIL" SIDE OF MULLION) SEE "FRAME 3§ = SMOVED WHEN REQUIRED R
& ON THIS SHEET. ] ANCHOR REQUIREMENTS TABLE” T . /M FOR A DIRECT MOUNT 2938
& ON SHEET 1 FOR OTHER w @ ~ 7 < NAIL FIN Q wwy
T /~FRAME ANCHORS % FASTENER REQUIREMENTS) 2 > O%E gﬁf&'ﬂﬁg‘% gC‘}LAS A ol| Z5s )
= (SEE_ELEVATION N\ ) o SUBSTITUTE FOR THE S| % sy
& ON SHEET 1) 11 GA. X 1 1/2° ROOFING x R FRAME SHEAR SCREWS 3| g &y
< / \ NAILS OR NO. 7 X 1 5/8 < SPECIFIED) al @ 9w
© DRYWALL SCREWS SPACED : ol £ I5R
X o~ / \ AS REQUIRED TO SECURE & © ) = =Y
T ¥ o SEAL NAILING FIN 29 11/16" | o |5 Y
= B3 / \ MAX. D.L.O. 5 5L 5
~ ] o
N INACTIVE ACTIVE NO. 10 S.S. WOOD SCREW OR < §§
woo = . MIN. 3/16" CONCRETE SCREW i S 2
- : (2 PER HINGE INTO SUPPORTING TYPICAL FRAME SC &
u 2 N\ /CTYTN ’1 SUBSTRATE). SEE "FRAME % INTO SUBSTRATE gl 2
S v \&/ ~ NG T¥  ANCHOR REQUIREMENTS” TABLE POSITIONED AS SHOWN. al 2 2 %
A OPPOSITE ON SHEET 1 FOR OTHER SEE "FRAME_ANCHOR <| & Feoo
< 5 FASTENER REQUIREMENTS. REQUIREMENTS TABLE ol weoRl
s \ . - ON SHEET 1 FOR OTHER s| &<5.8
: / FASTENER REQUIREMENTS. S| 2stus
(@] ] < =z ——EL‘-
S / iy 3| w552,
25 7/16 y TYPICAL FRA(ME SCREWS INTO o vAx 4 2| £3388
= MAX. D.LO. 36" SUBSTRATE (ONE AT EACH SILL L 3" MAX. Wo gLl
\ / / CORNER, 3 AT SILL MIDSPAN & 3 (TYP.) EXTERIOR ELEVATION *| (TYP.) " &gé ?%T
/ | THROUGH STRKE PLATE) SEE SIDELITE E |z0° g
\ "FRAME ANCHOR REQUIREMENTS SCALE: 3/4" = 1'-0" N P
% 77 | TABLE” ON SHEET 1 FOR OTHER - PRODUCT RENEWED N EI-
/ ' FASTENER REQUIREMENTS MULLION END CLIP 20 GA. (0.034") 2 X 5 X 1/8" gmﬂgﬁﬂﬂmmﬂ T EES z
| APPLICABLE WITH BUMPER 20 GA. (0. ,
‘ ( FOR ADA THRESHOLD X 1.5” X MIN. 5.5" LONG (MIN. TUBE MULLION (MIN.  Acceptanee NopZ-2402-10 X
THRESHOLD. _FOF ! : 6063—T5 ALUMINUM)  Expimtion Date Tuly 7,20/ o
\ CONDITION, SEE "ADA SILL DETAL” 33 KSI CALVANIZED STEEL)‘L’ loteac UL _ @
T ON' SHEFT 7). poye Fpn o x 112 R |5
I" " P SMS L ROOFING NAL (2 piviston < 3
. I RN | \ (4 PER CLIP)<§| | PER CLIP) L. "2
4 e VALING FIN IS OPTIONAL & | ¢ MIN. 2x4 P 7 R
i MAY BE SCORED AND 7 - - WOOD BUCK |
) REMOVED WHEN REQUIRED ” e
EXTERIOR ELEVATION N A DIRECT MOONT 3/8" MAX. < BY OTHERS £\
DOUBLE RECTANGULAR OUTSWING DOOR CONDAI‘TlgNAS(NAIL FHS\:T”SS%L MULLION END CLIP DETAIL TR T
WITH TRANSOM NOT ACT AS A SUS (APPLICABLE TO ELEVATION ON 1211 | B
- o e FOR THE FRAME SHEAR SHEET NO.
SCALE: 3/4" = 1 -0 SCREWS SPECIFIED) THIS SHEET ONLY) 3 o 8
(SEE DOUBLE RECTANGULAR OUTSWING DOOR ELEVATION FOR DETAIL NOT SHOWN) SCALE: 1/4 FULL




FIN. SHALL NOT ACT AS A SUBSTITUTE FOR

OXXO UNIT WITH OUTSWING DOOR AND TRANSOMS

THE FRAME SHEAR SCREWS SPECIFIED)

SCALE: 3/4" = 1'-0"

(SEE OTHER ELEVATIONS FOR DETAIL NOT SHOWN)

THIS DOOR ALSO APPLIES
WITHOUT TRANSOMS.

ALL OTHER 4—PANEL CONFIGURATIONS OF SINGLE/DOUBLE DOORS & SIDELIGHTS ALSO APPLY.

149 1/2" MAX. FRAME WIDTH (F.W.) NOTE: TRANSOM | s oo v 4% MULLION
E e s e e e e - S S S S S S = = ) owsTor | 0 AP (18
- | FIXED TRANSOM WINDOW (SEE DRAWING NO. FIXED TRANSOM WINDOW (SEE DRAWING NO. l GA. GALV. STEEL)
T [ 1210, 1071 OR 1072 UNDER SEPARATE f [ 1210, 1071 OR 1072 UNDER SEPARATE ‘ ,
L3 ’ [H APPROVAL FOR DETAILS.) H! l” APPROVAL FOR DETAILS.) H ‘ ] r‘
—
Ta NO. 10 SMS g » ’
2% | FRAME screws  NO. 10 SMS FRAME SCREWS AT | ” 27 X 57 X 1/4" M6 STEEL TUBE MULLION Hl 7—'—‘““? -4
I H INTO MULLION DOUBLE DOOR. PLACE ONE AT l l ’ ’ 15"
w O , “ WITHIN 8" OF EACH HEAD' JAMB CORNER, 3 TYPICAL FRAME SCREWS (POSITIONED AS SHOWN e & &
ZZ [ CORNERS & MAx. AT HEAD MIDSPAN (5 AT H H WITH 3 EACH SIDE OF MULLION) SEE "FRAME H | }
gz 6 MAX. T 125" 0.C. AT " MIDSPAN IF DOOR IS WIDER ' I ANCHOR REQUIREMENTS TABLE" ON SHEET 1 ‘ J A
e () _Hl 125" 0C. 1 THAN 74") & 2 THRU STRIKE ' “ FOR OTHER FASTENER REQUIREMENTS) |H_ ] < -4
e 1, SINGLE DOORS PLATE INTO MULLION TUBE. T @ —\.‘_ ’ 12
3" 3 3" 33" 3 3" I~
| _H(——s :,AZ I = A}Aj‘ - TUBE MULL
= - = - = - — — = o[ e e e e ol e e e e 3
L T R R T il ————— ' I RN (REF)
/ ] \ / // \ 3 1/47 X 2 3/4"
.
Ll ] . NO. 14 SMS CONCRETE
/ \/ /7 l q Y, / ¥ (2 PER CLIP)~5 SCREWS PLACED
4 % 1 \_ STRIKE 7/ SEE "MULLION—" - o QERHOLES
ADDITIONAL FRAME / oy END CLIP DETAL" | 2 PER CLIP)
= SCREWS INTO MULLION Vs \ /2 ON THIS SHEET. . (
T SIDE OF MULLION HINGE (@6)
§ THROUGH THICK / e\ TO PENETRATE . s é
= OF JAMB) G SECTION i | PANEL MULLION TUBE WALL '
e O / LOCK HROWARE  \ (TYP. EACH HINGE)
3 - / HARDWARE . * TO CONCRETE OR CONCR. FILLED BLOCK
=« ROOFING NAILS OR NO. / STRIKE \ 1 e l NO. 14 SMS (REF)
s 7 X 1 5/8" DRYWALL INACTIVE ACTIVE ' '
- (2 PER CLIP) A 12 SMS
M E X i RAGE
w5 % SCREWS SPACED AS i by o , _ 1
o= REQUIRED TO SECURE & 2" X 5" X 1/8 f s £
T . SEAL NAILING FIN 6063-T5 ALUMINUM ) [ (3 PER CLIP
" g T VA /N TUBE MULLION\ 12MA§(>-C~ /N hiE
g 0 ~ \Z/ v~ \&/ v ' | I ! £
o 0 @ -
b i OPPOSITE ”
w @ i ACTIVE >\ gg é /2 J
< INACTIVE HANDLE MAX.
< ADDITIONAL SILL ANCHORS \ e I S / |~ TYPICAL SILL '
; THROUGH THICK SECTION
. S hge q’ ) 2 ) | 10 WooD
SUBSTRATE (2 ADDITIONAL || |l . 1
FACH SIDE C<)F MULLION) - 25 7/16 4 v INDMIDUAL UNIT MULLION END CLIP DETAIL
, : MAX. D.LO. 36 ELEVATIONS.
SEE "FRAME ANCHOR \ A (APPLICABLE TO TRANSOM MULLION
REQUIREMENTS TABLE” N / | FRAME ANCHORS | ON THIS SHEET ONLY)
FOR OTHER FASTENER ol 11 wro muLLioN MULLION END_CLIP_NOTES:
REQUIREMENTS. // ke PLATE / (REF. SECTION "J") 1. SUPPORTING SUBSTRATE MUST BE
(P) ~— 7 l DESIGNED BY OTHERS TO SUPPORT
THE LOADS FROM THE MULLION ENDS.
/ : 2. CLIP SCREWS SHALL HAVE A MIN. SUBSTRATE
B PANEL PANEL PANEL d PANEL EDGE DISTANCE OF 2 1/2" FOR CONCRETE
CENTERLINE CENTERLINE CENTERLINE | CENTERLINE SCREWS & 3/4” FOR WOOD SCREWS.
] 7 o f  mecapivgth e
5 MAX. | | REEEEE r T T | L—B" - Bedagoods L)
TYP. » m ] Acveptanee NoOF ~040L./ 0
(Te.) 377 MAX. et R S S S ——‘ (TY Expiration Date—z—'é_”el ;;(z‘a/,?
NAILING FIN IS OPTIONAL & MAY BE 37" MAX By 6 bnge | (hiava
SCORED AND REMOVED WHEN REQUIRED ' i =
FOR A DIRECT MOUNT CONDITION. (NAIL EXTERIOR ELEVATION Pivipgn ™ Prodect Contrs

CHECKED 3Y:
W.W.S.

ORAWN 8Y:
KPS,

DATE:
02/20/03

PLOT:
1=16

DATE

BY

REVISION DESCRIPTION

NO.

n
o
3
a N
s 3
[{g]
[72] <+
z 941
Q W w
ZZs1
21 £ %o
o o~
S| gueh
a | :l__'O:l
W EP0
ol T Uox
z| © sy
Bl 5w
el =
[y o
2= ©
o Bﬁ
P-4
=
Q Iz
Z I3
o
N < g
=z <+ ¥
a b Qoh
S| & N
O] WL 130
Zh' ko
=] 9 327
2 Z - _5
=z WO 542
— 4
= = £y
X Fog
) W, o
— D a2
< Wwo; 2.1
<> 550
9 Io fﬁ',:
= [N S) @ |
= O -
= zW0 Z5%
o |58 527
< > 2 @ L
= n w0z
= |5 ¢
S o= a

M W. SCHAEFER, P.E.

CERTIFICATION
< P.E. NO. 44135

DRAWING NO.

121

R

w3 W

SHEET NO.

4 o 8

NOTE: OXXO DOOR SHOWN.




CONTlNUOUS SEALANT DRAWN BY: CHECKED BY:
CONTINUOUS ROOFING NAIL OR NO. MIN. 2X4 KPS | s
L = OR N/ SEALANT BEHIND FIN ROOFING NAIL OR NO. / BEHIND FIN BY OTHERS 7 DRYWALL SCREW BUCK /FRAMING & BUCK o P oy
BY OTHERS 7 DRYWALL SCREW MIN. 2%4 WITH NAILING FIN ATTACHMENT BY OTHERS
WITH NAILING FIN MIN. 2X4 WITH NAILING FIN 2 (SEE SUEET 1) o
(SEE SHEET 1) BUCK/FRAMING & BUCK  (SEE SHEET 1) gggﬁ/ Z?%HﬁEﬁT FRAME SCREW PER FRAME SCREW 3
ATTACHMENT BY OTHERS oY OTLERS / ELEVATIONS (MAY BE _ PER ELEVATION
S TR 7 - POSITIONED AT THIN OR[N i : &
e ow o 00 - THICK SECTION OF JAMB) |27+ N, “0 a4l
54 .. [a a4 -d -t L. ) <
f — 5
1/4" MAX. 1/4" MAX. 1/4” MAX. &
SHIM AT B SHIM AT : ) —~  SHIM AT 3
EACH FACH ANCHOR ~ \_n- o™ EACH ANCHOR 8
ANCHOR R — 5
= , SEALANT BY < N g
OTHERS C@ F
SEALANT 7 2
BY 14 ( 28 31 ((
OTHERS 5 47 \@ 0
4849 o)
59132 CONTINUOUS SEALANT ] 8 «
g%ﬁé"g BY ' 1 BEHIND FIN a N
STRIKE SCREW BY OTHERS B 7
INTO SUBSTRATE -9 @ % At 0
(e \ (REF. ELEVATIONS) .\ /@ 5 gfgﬁ
FRAME CORNER Z 5= |
SCREW PER SEE GLAZING o gl £ 2%
L~ ELEVATIONS (MAY -~ DETAIL ON 7 N ol 4 hie~
R ~N ” ~N l Y \ o @ |
/ NN BE POSITIONED AT / NN SHEET 7 \ =}
/ N, V| THIN OR THICK / N ol £ S
- 2 SECTION OF JAMB) X s Z]| 0z
[ ~ [ TR ~ = N PO
\ T \ T W Qs =
L L = E T
/ = = Q
STE- 5 \w/\ 5 S 5=
SEE GLAZING 1 SEE GLAZING w z
EXTERIOR DETAIL ON UIJ EXTERIOR DETAIL ON - EXTERIOR i é = A
SHEET 7 = SHEET 7 = [5_7:] > o S S
= & - = al 2 .3
T “ o (19 7 i nl RS
/® 76 Vs /—@ SILL SCREW Ol B<uhy
L—SILL CORNER J L SILL MIDSPAN PER ELEVATION 2| 8% 3
SCREW PER ' 35D SCREWS PER \ ) z | 9g g4t
ELEVATIONS. (MAY N— ELEVATIONS A s | «Fef,
48)Y49 BE POSITIONED IN /@ 3] &3 238
WOOD OR VINYL ' <| ¥25z)
AREA OF SILL) / SILICONE 4 258 287
L SILICONE  SILICONE BACKBEDDING I R
LA BACKBEDDING A L
| BACKBEDDING ] : 3> 8¢
I F g
/@ I SILICONE /f@ I
350G 2 BEAD /@ o
5 &
- 2 o U z ©3
Y ey IS i Billd NN
= A . I .
PRODUCT RENEWED = A2
as complying with the Florida || NE
Code 8| ] e .
SUBSTRATE Arceptance NoC-0 d 202 = 5’
BY OTHERS /N STRIKE FASTENER Expiration Ds s 2
SUBSTRATE 26 - SUBSTRATE =
(REF. ELEVATIONS) By_$ lag; | L\M i
BY OTHERS BY OTHERS “ —
SECTION /AN SECTION /B SECTION /O mﬂmw&mﬁ DRA;’E? 1N°‘ REé"
SCALE: 1/2 FULL &/ SCALE: 1/2 FULL \&/ SCALE: 1/2 FULL \&/ ” T
(FOR DETAIL NOT SHOWN, SEE SECTION "A") 5 o §




DRAWN BY: CHECKED BY:
K.P.5. W.W.S.

1/4” MAX.V FLoT: DAIE:
SHIM AT —= |=——————— FRAME WIDTH (F.W.) &) ® 0 i=2__|"o2/20/03
EACH ANCHOR = \ "
MIN. 2X4 3
BUCK/FRAMING & A
BUCK  ATTACHMENT oL LAaNG S 5
Y OTHERS
BY OTHE SHEET 7 SILICONE SEALANT g Z
31 <]
NAIL FIN SCREW ‘ % £
=3 g
PER ELEVATIONS @_\ ERNE:E - f@ :
HINGE SCREW - N 2 D @ RN z
INTO BUCK (2 ® 49§ @) / 2
PER HINGE PER 7 \ N SN A Y \ &
ELEVATION) N x LQ,I' : ( 3
SEALANT BEHIND : / @ /
FIN BY OTHERS ~ \L % b if i@ "
B SR f g _ o
R @@ @& Y : /\SEE GLAZING Qg
o < DETAIL ON >
® SHEET 7 Sag
B R 373840 @ ot
SEALANT BY 12 g wo g
OTHERS SECTION /TN wl| 255
SCALE: 1/2 FULL \ 6/ —_— el =%
(ADJUSTABLE HINGE CONFIGURATION) — 3| oyt
SECTION /D 2 LR
SCALE: 1/2 FULL \ 6/ z| » o™
1/4” MAX. = =
—  FRAME WIDTH (FW.) —— ” 2lsY =
SHIM AT~ — W) 1/4” MAX. RANE WOTH (FW.) 5EZ 8
EACH ANCHOR MIN. 2X4 —— EACSHH”\AANélT—iOR W, ° 55
MIN. 2X4 - BUCK/FRAMING & 53
BUCK /FRAMING &>, - BUCK ATTACHMENT INEWED ZE
BUCK ATTACHMENT SEEAlngﬂNG BY OTHERS ;Rggggﬁ,;‘f;“h the Forida |- &7 -
Y OTHER e Q g
BY OTHERS - SHEET 7 FRAME SCREW PER ELEVATIONS e N 2./0_ ol 2 &
HINGE SCREW (MAY BE POSITIONED AT THIN OR N Expiration Date > L J,E"”l
INTO BUCK (2 THICK SECTION OF JAMB) _ | Uw«J» of 8<.3]
PER HINGE PER R < . bt 3 | 8% oe:
ELEVATION -3 4 — e z | G99 42
) @ v I \ Division S ﬂ:é g
NAIL FIN SCREW A \ S| w3 258
PER ELEVATIONS 7 NAIL FIN SCREW—\\N // \ | Yp L]
{ y PER ELEVATIONS L |58 358
SEALANT BEHIND E [£80 .81
FIN BY OTHERS \ SEALANT BEHIND 49 / A L
. FIN BY OTHERS N % s 2% 8%¢
<~ /\_ R EENR:
O ] @J SEE GLAZING ;
- DETAIL ON o
Dol et 42 SHEET 7 S e
CUT SCREW OFF SEALANT BY S e 5 i
FLUSH WITH OTHERS SEALANT BY S 5
BACK OF JAMB. OTHERS & g
= .
o
SECTION /T2 — 8 T
SCALE: 1/2 FULL \.6/ 2
(BUTT HINGE CONFIGURATION) SECTION /) E
SCALE: 1/2 FULL \6/ o
1211 B
SHEET NO.

6 o 8




#10 SMS SCREWS PER NO. 10 SMS INTO WOOD OR 3/16” CONCRETE SCREW SEE OPTIONS 1, *1 7/16" SOLUTA SAFLEX lIG LAMINATED GLASS s °“E°v_}f§?s.“’
410 SWS @ & FROM FLEVATION (SEE SECTIONS INTO CONCRETE (REF. "FRAME ANCHOR REQUIREMENTS 2 & 3 BELOW (3/16" AN./0.090" SAFLEX lG PVB/3/16" AN, [0 o5
L ORNERS & MAX. 19" O.C. "A” & "B” FOR POSITIONS TABLE” ON SHEET 1 FOR OTHER ANCHOR REQUIREMENTS). FOR GLAZING
IN CROSS SECTION) 2 ANCHORS PER STRIKE WHEN INTO CONCRETE; 4 PER ke
STRIKE WHEN INTO WOOD. 2
TUBE MULLION FIXED WINDOW J\ EXTERIOR
PER ELEVATIONS PER WINDOW @ | ; &
APPROVAL b 7/16" MIN.
o GLASS BITE .
23 39 = 5
/ (20 W J\/ z
32341278 LA = SEE NOTE 2
& BELOW SHiM AS 2
: E—H | GLAZING DETAIL  REQUIRED 5
5 g TS Xy _L GLAZING OPTION 1) NOVA GUARD BC4—121 STRUCTURAL SILICONE @ INTERIOR  |1g
‘ ; & NOVA GUARD M418 STRUCTURAL SILICONE @ EXTERIOR
2 NO. 10 SMS INTO WOOD OR 3/18 GLAZING OPTION 2) GE SILGLAZE HC STRUCTURAL SILICONE @ INTERIOR & 5
; CONCRETE SCREW INTO CONCRETE 2
: (REF. "FRAME ANCHOR REQUIREMENTS GE ULTRA GLAZE STRUCTURAL SILICONE @ EXTERIOR
3 GLAZING OPTION 3) DOW CORNING 899 STRUCTURAL SILICONE @ INTERIOR & "
J TABLE™ ON SHEET 1 FOR OTHER | 4, GE ULTRA GLAZE STRUCTURAL SILICONE @ EXTERIOR @
?gguOEAgﬁQg,L%E%ENTjBL Aﬁ,[\]‘EZB AT GLAZING OPTION 4) GE 1311 SILGLAZE HC STRUCTURAL SILICONE @ INTERIOR 38 <
L & GE RAPIDSTRENGTH SILGLAZE STRUCTURAL SILICONE @ S i
OPTIONAL ADA SILL DETAIL  SILL MIDSPAN SPACED 67 APART. EXTERIOR 8 7
* SILL SCREWS SHOWN CONSIDER A DOUBLE DOOR CONDITION. AT SINGLE DOORS, GLAZING OPTION 5) DOW CORNING 899 STRUCTURAL SILICONE @ INTERIOR & 0 %0
ONLY 3 SILL SCREWS ARE REQUIRED (6” FOR SILL ENDS AND AT SILL MIDSPAN). DOW INSTANTGLAZE STRUCTURAL SILICONE @ EXTERIOR 3258
STRIKE SCREWS ONLY NEED TO PENETRATE THRESHOLD AT SINGLE DOOR. GLAZING OPTION 6) SIKA SIKAFLEX 552 STRUCTURAL SILICONE @ INTERIOR & % :_E—(?
* USE OF THE ADA THRESHOLD IS ACCEPTABLE ONLY WHEN EXTERIOR 2] £ 2%a
THE DOOR IS INSTALLED IN NONHABITABLE AREAS WHERE THE NOTE: GLAZING OPTIONS 1, 2 & 3 ONLY ALLOWABLE FOR Sl 5 %or
DOOR ASSEMBLY & AREA ARE DESIGNATED TO ACCEPT WATER 4.563 D.LO. 25 7/16” X 79 15/16" AND SMALLER. GLAZING a2l 3 5.
INFILTRATION OR IF INSTALLED BELOW AN OVERHANG WHERE OPTIONS 4, 5 & 6 ARE ALLOWABLE FOR ALL SIZES. ol 2552
THE OVERHANG (OH) RATIO IS EQUAL TO OR MORE THAN 1 (T~ hd d f z| v zu"™
(OH RATIO = OH LENGTH/OH HEIGHT) It L R —— { ) WV
SECTION /™) : 1.250 2.786 O lew 2
SCALE: 1/2 FULL \ 7/ i ! — j % [_J S IE% -
o Q
(FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS) f |__ 1638 — | | z =
k] » 3 ” - g
1/4" MAX. 2" X 5" X 1/8 (1)HEAD & SIDE JAMB (2)SlL Javg 07 sl ease | 2F
SHIM AT — FRAME WIDTH (F.W.) TUBE MULLION #10 SMS SCREWS PER SiLL BASL gl . 9
EACH ANCHOR (MIN. 6063-T5 FLEVATION (SEE SECTIONS 0.687 al 2 3%
FRAME SCREW —, ! ALUMINUM) "C1”, "C2" & "H” FOR | | 2.406 10 R
PER ELEVAT,ON\ \ POSITIONS IN CROSS SECTION) 4.500 4.762 ﬁ oaes || O ¥<iuBl
) 7 aw 2.171 2.218 : s | &= 5.8
MIN. 2X4 7829 ‘_— 1.939 )l z | @9 447
BUCK /FRAMING & @ ) ' S| =835,
BUCK ATTACHMENT < 51 3 383
o 1 (6)0AK THRESHOLD || 2 | &g €27
S @ G Top RAIL  (5)NARROW SIDE RAIL MEEEL
5l O (®) LEGACY s .38 350
NAIL FIN SCREW N E T
5803
PER ELEVATIONS _\ ) - i 9.500 N CERS L
7 — B 5= £
SEALANT BEHIND ﬁ 2
FIN BY OTHERS —\ g e S "
z Pt
EXTERIOR I S e a3
G T 4 (7)BOTTOM RAIL g BE
53 PRODUCT RENEWED = iy
e EXTERIOR !ﬁk //1 O CE — " 0.500 wmwﬂh the Florida o= -
SEALANT BY 14 i 0. Aeveptance No O3 - -0602- [0 o B
0270 l¢ ; [
By ¢l [ Lwl e DRAWING NO. | REV.
SECTION /@ SECTION N GLAZING STOP @ ASTRAGAL Mismi Dade Product Contri 1211 | B
SCALE: 1/2 FULL \_7/ SCALE: 1/2 FULL \7J SCREW CAp  Dvos SHeET o,
(FOR DETAIL NOT SHOWN, SEE OTHER SECTIONS) SUREW LAF 7 o 8




DRAWN BY:  |CHECKED BY:
ITEM #[ DRAWING # [ ITEM DESCRIPTION f MANUFACTURER /NOTES | KPS, WS,
PARTS - 4.762 ——————{ 4.762 ' 1.750 —.—! P Yeara0/08
1] 08-1006—C2503 |HEAD & SIDE JAMB * WOOD S
2 | 08-0002-W2402 [SILL JAMB * WOOD "
3 | 08B—0004—W2402 [SILL BASE * WOOD z
4 | 0B~1072-W2427 |TOP RAIL * WoOD
5 | 08-1075-W2427 |NARROW SIDE RAIL * WOOD 2.219 2.219 2.250
6 08-W5074 0AK_THRESHOLD LEGACY * WOOD
7 | 08—1071-W2427 |BOTTOM RALL * WOOD
8 08-1680-02  |[GLAZING STOP * WOOD f z
9 08—-WB075 ASTRAGAL SCREW CAP * WOOD - E
10 | 08-1087-C2537 |HINGE STILE * WOOD E
11| 08—10B8-C257_|LOCK STILE “WooD (10) HINGE_STILE (11)LOCK STILE (12)INTERIOR ASTRAGAL |3
12 08—1611-02 | INTERIOR ASTRAGAL * WOOD 2
13 | 0B—1089-C2537 |INACTIVE MEETING STILE * WOOD =
14 | 04-0004—C2403 |HEAD & SIDE FRAME CLADDING 6063-T5 OR 6063—T4 ALUMINUM 4782 .____.{ s
15 | 04-0009-W2402 |SILL JAMB CLADDING 6063~T5 ALUMINUM 2
16 | 04-0056-C2427 |TOP RAIL PROFILE 5063—T5 ALUMINUM —ll~— 0.050 3.348 .
17 | 04—0016-C2033 |STILE PROFILE 6063—T5 ALUMINUM 1.500 g
18 | 04—0018-C2033 |NARROW STILE PROFILE 6063—T5 ALUMINUM —| 1200 I 2.141
19 | 04-0015-C2022 |BOTTOM RAIL PROFILE 606315 ALUMINUM 2.919 0.075 .
20 | 04-0050-W1802 | HANDICAP SILL 6063—T5 ALUMINUM D ﬁ‘_"w 1.424 e
21| 04-0011-W2487 |EXTERIOR ASTRAGAL COVER 6063~T5 ALUMINUM . 8 <
22 04-A1621 MULLION COVER 6063—T5 ALUMINUM -f E— A N
23 02-1514—02__ | BOTTOM SWEEP VINYL 2.914 3 <9
24 | 04—0010~W2487 |ASTRAGAL BASE 606315 ALUMINUM o
25 | 02-0005-W2402 | THRESHOLD VINYL 0 AT 0
2 O-o%08 05 {ShToNsRY ST FIIER GIF INACTIVE_MEETING HEAD & SIDE (15) SILL_JAMB £ 933
27A | 12-0017-W2471 | GROMMET PVC STILE FRAME CLADDING CLADDING a T_©
27B_| 12-0209-W2596 |SINGLE PANEL GROMMET PVC nl £ n= O'O
28 12-1557-02 _|HEAD JAMB BACKER PLATE (10.125" X 4.50" X .080") STAINLESS STEEL 5000 5014 | 2.768 & = s ¥
29 | 12-0011-W2401 |SINGLE DOOR TOP BOLT STRIKE PLATE (1.495" X 1.320" X .119°) | 304 S.5. ) } o) g’
30 12-1463-02__ |SINGLE_DOOR SILL BOLT STRIKE PLATE (2.853" X_.800" X .120°) |304 S.S. O 050 ;— 0.050 al d EE 0
3 12-1464-02  |DOUBLE DOOR SILL STRIKE PLATE (4.000° X 2.817" X .125") 304 S.S. * 0.654 %L 0.050 — J ol T 56
32 12-1465-02  |DOUBLE DOOR HEAD STRIKE PLATE (5.634" X 1.762" X .060") 304 S.S. 0.616 J O 654 f ' r wn Bg
33| 12-0013-W2403 |TONGUE STIKE PLATE (5.000° X 1.000" X .059") 304 S.S. ‘ f 2| .
34 | 12-0211-W2596 |ADA SINGLE DOOR STRIKE PLATE (3.028" X 1.000" X .060") 304 S.S. f f 2 s W =
35 12-1291-02 _ [PANEL CORNER REINFORCEMENT BAR (10.100" X 1.000" X .120") |304 S.S. — 1 PER PANEL CORNER . TOP RAIL PROFILE @ST“_E PROFILE .NARROW STILE 3 5 O
36 12-1286-02 | SINGLE DOOR STILE LOCK STRIKE {9.331" X 1.320" X .118") 304 S.S. PROFILE i)
HARDWARE | —_—— L=
10.000 O iz
37 [ 12-0001-W2477 |VERTICAL ADJUSTABLE HINGE (PLATED STEEL OR S.5.) VARIANT HEAVY DUTY OR MILLENIUM STANDARD 0.100 e 2500 - 3
38 | 12-0002-W2477 |HORIZONTAL ADJUSTABLE HINGE (PLATED STEEL OR S.5.) VARIANT HEAVY DUTY OR MILLENIUM STANDARD ‘ r - ‘ ‘ W
39 12-1594-02_ |4” X 4" BUTT HINGE (PLATED STEEL OR S.5.) HAGER 1191 | o 3
40 12-1718-02 | VARIANT HINGE (PLATED STEEL OR S.5.) SIMONS—WERK 0.616 %L ,J 0.592 (& ? al z =+
41 12-1601-02 |10 MM SHOOT BOLT GUIDE NYLON 6, 30% GLASS FIBER <| B F2e
42| 12-1624-02 |ACTIVE HANDLE SET WITH KEYED CYLINDER AS REQUIRED TO OPERATE DOOR LOCKS } . BOTTOM RAIL PROFILE } R O weent
43 12-1625-02 __ |INACTIVE HANDLE SET AS REQUIRED TO OPERATE DOOR LOCKS ’“+ 0.045 0.056 = gn_' 5 o8
14 12-1607-02 | 2—POINT CONCEALED INACTIVE PANEL LOCK SET HOPPE = .ot
45 12-1558-02, |.38 TOP & BOTTOM EXTENSION ROD CONCEALED HOPPE_NORTH AMERICA HLS SERIES | 6.531 T @MULLION COVER 2 G 5ud
46 12-1576-02 | 5-POINT ACTIVE PANEL LOCK ASSY. W/SHOOT BOLTS HOPPE NORTH AMERICA HLS 9000 SERIES O 110 Z 1197 =] x£ §§ "
SEALS & SEALANTS { 1.750 : 5] 338
47 | 12-0050-W2463 [HEAD & SIDE TFT WEATHERSTRIP POLYPROPYLENE m j-w——’—m 0.500 { l 2 63 4 | < | Y@z
48 | 12-0005-P2262 |INTEK ARLOC WEATHERSTRIP VINYL ’ by w50 =35
49 12-1602—02___ | AMESBURY WEATHERSTRIP VINYL f - = z0n© z'; 5
FASTENERS - I RE
50 - F16 X 1 1/2" BRAD NAIL 2" FROM ENDS & 13" MAX. 0.C. @ w m ” I g 7 3;8 %15
51 Z 3/16° X 1/2° STAPLE 3" FROM ENDS & 20" MAX. O.C. STRAGAL COVER 0.070 I 5
52 - NO. 8 X 2/1 /2" DRYWALL SCREW 3" FROM ENDS & 16" MAX. OC. 1.961 S -
53 - NO. 7 X_5/8" FH WOOD SCREW 8 PER HLAD JAMB BACKER PLATE )
54 - NO. 7 X 5/8" FH WOOD SCREW 2 PER HEAD STRIKE PLATE 1.650 0.120 _' e 1.753 @ BOTTOM SWEEP o o
55 = NO. 8 X 1 1/4" WOOD SCREW 4 PER CORNER REINFORCEMENT PLATE i 0.090 = w0
56 Z NO. 8 X 1 1/2" FH SMS SCREW 1 PER SINGLE/2 PER DOUBLE STRIKE PLATE r { gl =~ wn
57 = NO. 8 X 3" FH WOOD SCREW 2" FROM ASTRAGAL ENDS & 6 0.C. | 449 D Bl o %3
58 — NC. 8 X 2" FH DRYWALL SCREW 1 1/2° & 2 1/2° FROM PANEL ENDS : ]- 1.396 0.703 PRODUCT RENEWED Q) og
59 Z NO. 8 X 1 1/4” WOOD SCREW 10" FROM ASTRAGAL ENDS & 8 O.C. l 0.125 a5 complying with the Florida = z
60 - NO. 8 X 1 1/4° WOOD SCREW 4 PER ADJUSTABLE HINGE INTO STILE ! Buiding Code x | R
61 - NO. 12 X 1 1/4" FH WOOD SCREW 4 PER BUTT HINGE INTO STILE Avceptanece N.,Qz Qé N O 5\
62 - NO. 8 X 5/8" FH WOOD SCREW 2 PER ADJUSTABLE HINGE INTO JAMB ASTRAGAL BASE @ THRESHOLD . STATIONARY SILL Expiration Date_ 751 wlZ:220 3 &
63 - NO. 12 X 1 1/4" FH WOOD SCREW 2 PER BUTI HINGE INTO JAMB - - =
64 - NO. 18 X 1/2" X 1" S.5. STAPLE 2" FROM ENDS & 4" 10 6" O.C. FILLER CLIP 15"“ LL‘! vtk«
* WOOD USED WITH TEST UNITS WAS SELECT WESTERN PINE. ALTERNATE WOOD SPECIES TO BE M”“” DRAWING NO. {REV.
APPLICABLE WITH THESE WINDOWS IS MIN. SELECT MAHOGANY, SOUTHERN PINE, OAK, CHERRY, Division 1211 B
MAPLE, DOUGLAS FIR & CYPRUS. SEET NG,
8 of 8




